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Percentages of Quantities 1

Work out the answers to each question below. Then find the answers in the picture opposite and shade using a single colour.

	1.
	50% of 48g =
	24g

	2.
	50% of 22kg =
	11kg

	3.
	50% of 50g =
	25g

	4.
	50% of £44 =
	£22

	5.
	50% of 144m =
	72m

	6.
	25% of 48m =
	12m

	7.
	25% of £60 =
	£15

	8.
	25% of £8 =
	£2

	9.
	25% of 56p =
	14p

	10.
	10% of 200p =
	20p

	11.
	10% of 400m =
	40m

	12.
	10% of £100 =
	£10

	13.
	75% of $8 =
	$6

	14.
	75% of $60 =
	$45

	15.
	75% of $24 =
	$18

	16.
	75% of 36cm =
	27cm

	17.
	75% of £64 =
	£48

	18.
	50% of £112 =
	£56

	19.
	50% of 126m =
	63m

	20.
	25% of 140g =
	35g

	21.
	25% of £52 =
	£13

	22.
	1% of 400cm =
	4cm

	23.
	1% of 300kg =
	3kg

	24.
	1% of 900m =
	9m

	25.
	10% of 1120m =
	112m


